
7

3 Tape template in place, aligning the template centerline 
and bottom of template with hood bottom line and with 
the centerline marked on the wall. 

A

C
B

A. Centerline 
B. Fastener locations
C. Mounting height reference (hood bottom line)

4 Mark centers of the fastener locations through the  
template to the wall. 
IMPORTANT: All screws must be installed into wood.  
If there is no wood to screw into, additional wall framing 
supports may be required.

5 Remove the template.
6 Drill 3⁄16” (4.8 mm) pilot holes at all locations where screws 

are being installed into wood.
7 Install the 2 - 5 x 45 mm mounting screws. Leave a 1⁄4”  

(6.4 mm) gap between the wall and the back of the screw 
head to slide range hood into place.

1⁄4”
(6.4 mm)

Vent cover bracket installation
1 Attach vent cover bracket to wall flush to the ceiling using 

2 - 5 x 45 mm screws.

A

C

B

A. Ceiling
B. Wall
C. Centerline

Complete preparation
1 Determine and make all necessary cuts in the wall for the 

vent system. Install the vent system before installing the  
hood. See “Venting Requirements” section.

2 Determine the required height for the home power supply 
cable and drill a 1¼” (3.2 cm) hole at this location.

3 Run the home power supply cable according to the  
National Electrical Code or CSA Standards and local codes 
and ordinances. There must be enough ½” conduit and 
wires from the fused disconnect (or circuit breaker) box to 
make the connection in the hood’s electrical terminal box.

NOTE: Do not reconnect power until installation is complete.
4 Use caulk to seal all openings.

Install Range Hood

1 Using 2 or more people, hang range hood on 2 mounting 
screws through the mounting slots on back of hood. 

A

B

C

A. Mounting screws
B. Mounting slots
C. Lower mounting screws

1 
2 Mark with a pencil the lower mounting holes location.
3 Uninstall the hood assembly, and drill 3⁄16” (4.8 mm) pilot  

holes at marked locations.
4 Hang the range hood again on 2 upper mounting screws.
5 Level the range hood and tighten upper mounting screws.
6 Install 2 - 5 x 45 mm lower mounting screws and tighten. 

Use the optional wall anchors if needed.

Connect Vent System
1 Install transition on top of hood (if removed for shipping) 

with 2 - 3.5 x 9.5 mm sheet metal screws.

A

B

A. Vent transition
B. 3.5 x 9.5 mm screw

For vented installations only:
1 Fit vent system over the exhaust outlet.
2 Measure from the bottom of the air deflector to the  

bottom of the hood outlet. Cut the ductwork at the  
measured dimension. 

Dimension
to measure

Roof outlet

Wall
outlet

3 Seal connection with clamps.
4 Check that back draft dampers work properly.



8

Electrical Connection
 
I        WARNING
ELECTRICAL SHOCK HAZARD.
I        WARNING 
DISCONNECT POWER BEFORE SERVICING.
REPLACE ALL PARTS AND PANELS BEFORE OPERATING.
FAILURE TO DO SO CAN RESULT IN DEATH OR 
ELECTRICAL SHOCK.

1 Disconnect power.
2 Remove terminal box cover.
3 Remove the knockout in the terminal box cover and install 

a UL listed or CSA approved 1⁄2” strain relief. 

B

A. Knockout
B. Junction box cover

A

4 Run home power supply cable through strain relief, into 
terminal box.

A B

C

D

E F

A. Home power supply cable
B. UL listed or CSA approved   
 strain relief
C. Black wires

D. UL listed wire connectors
E. White wires
F. Green (or bare) and   
 yellow-green ground wires

5 Use UL listed wire connectors and connect black wires 
(C) together.

6 Use UL listed wire connectors and connect white wires (E) 
together. 

I        WARNING
ELECTRICAL SHOCK HAZARD.
I        WARNING 
ELECTRICALLY GROUND BLOWER.
CONNECT GROUND WIRE TO GREEN AND YELLOW 
GROUND WIRE IN TERMINAL BOX. FAILURE TO DO SO CAN 
RESULT IN DEATH OR ELECTRICAL SHOCK. 

7 Connect green (or bare) ground wire from home power   
supply to yellow-green ground wire (F) in terminal box 
using UL listed wire connectors.

8 Tighten strain relief screw.
9 Install terminal box cover.
10 Check that all light bulbs are secure in their sockets.
11 Reconnect power.

Install duct covers
When using both upper and lower vent covers, push lower 
cover down onto hood and lift upper cover to ceiling and 
install with two mounting screws.

NOTE: For vented installations, the upper vent cover may be 
reversed to hide slots.

D
C

C

A

B

A. Upper vent cover
B. Lower vent cover
C. 4 x 8 mm screws
D. Bracket

Secure the bottom of the duct with 2 - 4 x 8 mm screws.



9

Complete Installation

For non-vented (recirculating) installations only, install 
charcoal filters over metal grease filter.    
See the “Mainteinance” section.

Install metal filters. See the “Mainteinance” section.

To get the most efficient use from your new range hood, read 
the “mainteinance” section. 
Keep your Use, Care, and installation Guide close to range 
hood for easy reference.

Description of the Hood

5
4

3

2

1

6

1. Blower and light controls
2. LED lamps
3. Grease filter handle
4. Grease filter
5. Canopy
6. Duct covers

Control

1 2 3 4 5 6

1. Button ON/OFF motor (stand by)

2. Button for low speed (suction power) selection 
 When flashing, it indicates that you must wash the grease filter.

3. Button for medium speed (suction power) selection

4. Button for high speed (suction power) selection

5. Button for intensive speed (suction power) selection   
 It lasts 5 minutes then it returns to medium speed   
 (suction power). 

6. Button ON/OFF lighting 
 Press briefly to switch on or off the lighting of the hood.  
 Press and hold to adjust the intensity of the light.

Indicators of filter saturation:
At regular time intervals, the hood indicates the need of 
performing filter maintenance.

Button  on with steady light:
Perform grease filter maintenance.

Button  flashing:
Perform activated charcoal filter maintenance.
Note: Filter saturation signal is visible within the first minute 
after switching off the hood; within this time, the reset of 
saturation indicators must be performed.

Reset of filter saturation indicators:

Press and hold the button 

Activation of saturation indicator activated charcoal filter:
Note: This operation must be performed with the hood off.
This indicator is normally deactivated; press and hold the

button  to activate the function: the button lights up with 
steady light.

To deactivate the function, press and hold the button , 
the button lights up flashing. 

CFM Reduction System

Before operating your hood: 
Some States and Provinces of the US & Canada restrict the
maximum exhausting airflow of range hoods. 
Airflow is measured as cubic feet per minute (CFM). 
These maximum levels allowed are detailed in the local code 
of your area.  Please check local codes to find out if you need 
to restrict the maximum airflow of your hood.  If your local 
code mandates a maximum airflow level below the maximum 
airflow of this hood (i.e. 600 CFM), please execute the procedu-
re below to reduce the maximum airflow.

1 5

1 Turn the motor OFF.   
2 Press the ON/OFF (1) and Intensive speed (5) buttons 

together for 3 seconds.     
You will hear a beep and all control lights will illuminate 
for 3 seconds.      
This action will Disable speeds 3 and 4 and effectively 
lower the Maximum airflow to > 600 CFM.

3 Locate the CFM certification sticker in the hardware pack.   
4 Peel and Affix this sticker to a visible area in the blower.  

This sticker provides official certification to your local  
inspector that this hoods maximum airflow has been  
reduced to > 600 CFM.




